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Q.1. Choose the best answers.
I.   Where and how does carbon dioxide enter a plant?
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II. The diagram shows the shapes of the cells in a section of a leaf.
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Which cells contain chloroplasts? 
A. 1 and 2 
B. 2 only 
C. 2 and 3 only 
D. 2, 3 and 4
III. What are the functions of the xylem?
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IV. Photosynthesis increases concentration of oxygen in air, which is necessary for all
A. living organism
B. fossils
C. birds only
D. animals
V. Process of photosynthesis increases when light gets
A. dim
B. brighter
C. off
D. none of them
VI. Rate of photosynthesis is affected when temperature is too
A. hot
B. mild
C. cold
D. hot or cold
VII. Products of photosynthesis are oxygen and
A. Starch and Sucrose
B. Glucose
C. Starch
D. Water
VIII. 
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IX. Mesophyll tissues contain chlorophyll and proteins to carry out
A. photosynthesis
B. respiration
C. transpiration
D. none of them
X. All animals need oxygen and most of this oxygen comes from
A. roots
B. plants
C. stem
D. pollen grain
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The graph shows the concentration of carbon dioxide in the air surrounding a plant measured over
24 hours.
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Which explains the carbon dioxide concentration at time X?

light intensity plant process
A darkness respiration
B darkness transpiration
c daylight photosynthesis
D daylight rospiration
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where how
A root hair cells active uptake
B root hair cells diffusion
c stomata active uptake
D stomata diffusion
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